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Kamala College, Kolhapur
(Autonomous)

B.Com. (Part -1I) (Semester - 11I)
Level 5.0
Examination Nov. / Dec. - 2023
DSC-10: Macro Economics (Paper —I)
Sub. Code: DSC-10

Day and Date: Friday, 1/12/2023 Total Marks: 40

Time : 08:00 am to 10:00 am

Instructions
1) All questions are compulsory.

2) Figures to the right indicate full marks
3) Attempt any five questions out of seven

Q 1.) Write Short Answers (any two)

[10]
a) Difference between the macro and micro economics.
b) J. B. Say’s Law of Market.
c) Explain Dr. Marshall equation about money value.
Q 2.) Explain what is inflation and the causes responsible for inflation. [10]

Q 3.) Critically evaluate Fisher’s Transaction Approach of Money Value. [10]

Q 4.) Explain what is National Income, its various concepts. [19]

o : 10
Q 5.) Critically examine Keynes’ theory of employment 101

Q 6.) What is the weighted index Number? Calculate the weighted index

Number based on the information given below. [10]



Quantity | Weight | Base Year Price | Current Year Price
o 100 Ru. 200 Ru.
Tur
: 3 125 Ru. 260 Ru.
Gram
B 2 200 Ru. 300 Ru.
Lentils
5 400 Ru. 600 Ru.
Udid
3 550 Ru. 650 Ru.
Mung bean

Q 7.) Write short notes. (any two) [10]

a) Difficulties in measuring national income
b) Marginal Propensity to Consume (MPC)
c) Green GDP
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